INDIAN SCHOOL MUSCAT - MIDDLE SECTION - DEPARTMENT OF MATHEMATICS - TERM: 01 (2019 - 20)

CLASS :05 SUBJECT: MATHEMATICS

WORKSHEET NO : 01

TOPIC : LARGE NUMBERS

Q.NO:01
Sé)N MCQ ANSWER
(i) The numeral for Sixty five million seven hundred fourteen is
(a) 65 714 000 (b) 65 700 014 (c) 65 000 714 (d) 65 007 014
(i) The successor of the greatest 7-digit number is
(a) 999 99 998 (b) 9 99 99 999 (c) 999 99 997 (d) 1 00 00 000
(i) The standard form of 20 00 000 + 2 00 000 + 20 is
(a) 22 00 020 (b) 20 22 000 (c) 22 20 000 (d) 20 02 020
(iv) The Roman numeral for 45 x 2 is
(a)L (b) C (c) XC (d) cx
v) 2crore = million
(a) 10 (b) 20 (c) 100 (d) 200
S.NO FILL IN THE BLANKS ANSWER
(vi) | The Hindu Arabic numeral for XLIV is
(vii) | (437 + 528 - 43) rounded to the nearest 10 is
(viii) | 100 more than 48 69 923 is
(ix) | The product of the place values of 5 in 63 105 015 is
(x) | The expanded form of 213 547 618 is
S.NO MATCH THE FOLLOWING ANSWER
COLUMN A COLUMN B
(xi) | Predecessor of 14569 110 is (a) | 1023456
(xii) | Smallest 7-digit number using different digits (b) | 14569109
(xiii) | 3 09 999 is rounded to the nearest 1000 (c) | 7628453
(xiv) | 1000 less than 76 29 453 (d) 9 99 99 999
(xv) | Greatest 8-digit odd number (e) | 310000
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S.N
(0] ANSWER THE FOLLOWING




Insert commas and write the number name of 78150914 in Indian system and International system of
numeration.

Indian system:

International system :

Arrange the given numbers in ascending and descending order:
85 507 778 ; 85705689 ; 85705988 ; 85 507 269

Ascending order:

Descending order:

Make the smallest and greatest 8-digit number using the digits 2, 9, 5,4, 3,0, 6

Smallest 8-digit number Greatest 8-digit number

Which is bigger? 174 560 025 or 100 000 000 + 70 000 000 + 4 000 000 + 5 000 + 600 + 20 + 5

Ans:

Write the number and give its expanded form:
Seven crore fifteen lakh ninety thousand one hundred eleven

(iii)  Number:

(ii) Expanded form:

(iii) The number rounded to its nearest 100 is
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